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General Instructions:

i. There are a total of 36 questions in the question paper Eo nsisting of 2 sections. All
questions are compulsory. '

2. Section A contains 10 Multiple choice que_stions and 10 Very short answer duestions
each carrying Imark. |

3. Section B contains 10 questions of 3marks each and 6qu estion_s of 5 niﬂi:l}éleaéh.

4. There is no overall choice, however internal choice is provided in 3 queétioné of 1
mark 6 questions of 3 marks, and 3 question of 5 marks. An examine s to attemptany

one of the question out of the two given in the question paper with same quesﬁon

number, - 0 ol i R
Section A
oA The earthattracts a body of mass 1kg kept on its surface with a force of 1291 (. |
(a) IN
(b)9.8N
(c)1/9.8N

(d)6.67x10™'N
2, Two bodies A and B of mass 100g and 200g respectively are dropped ntar the surface
of the earth. Let the accelerationofAand Bbe a, and a, respectively, then’

(a)a=a,
P.T.
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(b)a,<a, | Ll |
(c)a,>a,
(d) none of these
3. . Amanisstandingona boat in still water. Ifhe jumps towards the shore the boat will L
(a) move away from the shdre e
_(b) remain stationary
(c) move towards the shore
(d) will sink _
4, N/kg is not the unit of ‘ g £ e iy ' ]
(a) retardation "
(b) acceleration
(c) rate of qhange pf velogit)lz_ Py
| (d) force
5. The boiling point of ethane is 88°C. This temperature will be equivalent to 1
(a)285K
_ (b) 288K
(c) 185K
(d)361K
- 6. One of the following does not show Tyndall effect. It is A 1
(a) Soap soln.
(b)ink
(c) sugar soln,

(d) starch soln/..

P.T.O.
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T : The celi ofganelle responsible for biogenesis of lysosome is
(a) chloropiast
(b) golgi complex
(c)mitochondria ~
(d) ribosome
8. Cells that surrounds sto‘mata in epidermis of leaves are cai led
(a) Hyper cel-ls. |
(b) Os;;lotic cell
(c) Guard cell-
DD T
9.  Theplantcell wallis made up of
(a) cellulose s
(b) lipid"
| (c) chitin

§ 3057

(d) lignin
10.  Tissuethat forms the lining 6 alveoli af ings s /"~ " bolins srpidinsin smesigal W
(a) tendon '

(b) squamous epithelium

(c) lymph liro
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(d)none
Atwhat place on the earth's surface is the wei gﬁt ofa body maximum? 1

Give the SI unit of the physical quantity which s détermined by the rate of change of

®&

linear momentum.

How is the gravitational force betwéen the two masses affected if the separation

1 ,
between them is doubled? | R 1
P.T.O.



14.

15.

19.

20.

21.

LTI LIdDdD= 1IN |\ OV

OR

What do you mean by acceleration due to gravity?
Two bodiesA and B of same mass are moving with velocity vand 2v respectively: '

Compare their

(a) inertia
(b) momentum.
Give one example each of emulsion and aerosol, -
OR
Why thereisnorisein temp]erature ofa substance duripg the change of stafe

although it is being heated continuously. 3 .
Why does steam cause more severe burn than boiling water at 100°C?

Who coined the term cell? Name one organelle which contains genetic material?
Name the substance that gives structural strength to the plants.
Name the modified epidermal cell that helps plant in exchange of gases.

Why is plasma membrane called a selectively permeable membrane? -

Section B
Calculate the change in momentum when (a) velocity of an object is doubled. (b) mass
ofan object is halved. (c) both mass and velocity are increased by three times. |

Give reasons and mention the law related to these statements.

(a)Itis easier to push an empty box than to push the box full of books. ..

(b) Itis difficult for a firemanto hold a hose pipe which ejects large amount of water

with high velocity.

2.T.0.
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22.  (a)Mathematically express acceleration due to gravity in terms of mass of the earth and radius of the
earth. : : | : . i g 4

rove that if meearﬂi attrects tveo bodies placed at the same distance from the center of the earth -

with ecihai force, then their maes'es wili be eciual. gy : ' ' 3

23.  Derivesecond equation of motie'rji. g_r_ephieall)f. )k .. . e 3

Derlve Fu-st Law of Motlon mathematleally frem the mathernatlcal expressmn for the Second L aw

of Motlon

24, Gwereasonsforthefollowmg i i 3 AP, | 14x2=3

G AR

(a) Water kept in earthen pot becomes cold during summer.

(b) A gas exerts pressure on the walls of the container.

AR B Gt |

OR
(@) Burnmg of candle is consxdered to show both physxcal & chemlcal change J ushfy

.What do you mean by the statement “the solubillty ef CuSO in water at 20°C 1s

‘ ‘

20.7gm.”?

4

25.  Whenzinc metal reacts withdil. HCI, a gas i‘s.eyplved. y r1x3=3
(e)_ Identify the gas | |
(b) How is this gas i_dentiﬁed?
(c) Which type of chemical reaction takes place here? /7 ...1..«
i OR

When iron nails are dipped in blue colour copper sulphate solution, the colour and new substance X

& Y are formed.

(a) Which type of chemical reaction takes place‘? ;
(b) What is the colour of the new substance formed? i f ey o Rt
ONSREXEY W - TN o0 ol de ab alpd 18

O hodada, dvve D T Ao



08 Jnlus %O.Ya ghe Jomf’*"ﬂi SJg,él:ttrm B4, Nem, s, Euote

26.

27.

28.

29,

30.

31,

32,
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How will you separate amixture of sand, sodium chloride &ammonium chloride? 3
Name a cell organelle called 'semi—autonomous'. What isitsrolein the cell? . 3
How do Biotic and Abiotic factorcffectsthecrop productlon'? , - S '.;' | | 3
'I‘.-,'l- TR !I R ! 'If|. ! [ | . -
OR ; I

oy 'L ; ;

Name the bee variety used for commercial honey production? List the characteristics of bee varieties

suitable for honey productlon
Why are Xylem and Phlocm called complex txséue‘? How are they different from one another'? Give
two points. ' ' 3 3
Name the stain used in preparing a temporzlry mount of cheek cell. Write two |
features of suchacell observeclil.: o g - b 3
(a) Differentiate between homogeneous & heterogellé ollslmixture with 6ne
example each.
(b)ﬁ S(;lutlor{ 'conta‘in_é.'S‘O'giﬁ; of sugar ﬁllsSolvéd in 370"gm. of wzltcl*. Calculaté tllc -
" concentrationof the solution, | 0 , 1' . ,. Y S 342=5
: OR T A 3
(a) Differentiate between true solution, colloid and suspension on'the basis of
(i) Tyndall eitect .
(ii) Size of solute particles
(b) What is chromatography? Writeits two applications. -
Give reasons: | . & e | 1x5=5
(a) Napthalene balls kept in stored clothes disappear over a period of time.
(b) We are able to sip hot tea faster from a saucer rather than cup.

(c) We feel cold on putting some pelrﬂJme oracetone on our palm.

(d) Waterisaliquid at room temperature.

iuli“’d* qlfnd, mu& il
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(a) Describe that uniform circular motion is an accelerated form of motion. 5
(b) An athlete completes one round of a circular track of diametgr 200m in 40s. What will be
(i) the distance covered

(ii) the displacement at the end of 2min 20s.

* Stateand prove law of conservation of linear momentum. -~~~ : 5

OR
(a) What is meant by momentum of the body‘? How canit be measured'? erte its SI unit.

(b) A cricket ball of mass IOOg moving with a speed of 30m/s is brought to rest by a player in 0. 3s.
Find .
.(i) change in momentum of ball
(ii) the average force applied by the player. -
Wh~at doesaneuron loolk like? Describe its function. . Bt 142+2=5
- : OR )

What are the differences among the muscular tissue of our limbs, bronchi of lungs and heart? Draw a

‘labeled diagram to show difierences amohg them.

What are nucleoid? With the help of a diagram explain the structure of nucleus. 5
OR
Differentiate between Prokaryotic and Eukaryotic cell.




